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Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer ALL questions in Section A. In Section B answer EITHER Question 4(a)

OR 4(b) and then Question 5 and Question 6.
Answer the questions in the spaces provided
— there may be more space than you need.

Information

The total mark for this paper is 53.

The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.
Questions labelled with an asterisk (*) are ones where the quality of your

written communication will be assessed

The marks available for spelling, punctuation and grammar are clearly

indicated.

Advice

® Read each question carefully before you start to answer it.
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Keep an eye on the time.
Check your answers if you have time at the end.
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Section A
Answer Question 1, Question 2 and Question 3.
Question 1.

Study Source A.

Source A: From a school textbook, written in 2008. It is describing the impact of the
Soviet invasion of Afghanistan in 1979.

The Soviet Union completely miscalculated the impact that its actions would have 1
on the West. The invasion was seen in the West as evidence of Soviet expansion.
President Carter stated that the invasion might pose the most serious threat to

world peace since World War Two. He took steps to try to persuade the Soviet

Union to remove its troops. After 1981, the USA took a more aggressive approach 5
towards the Soviet Union and began to find ways to support the Mujahedin in its
fight against Soviet troops in Afghanistan.

1 Give two reasons from Source A which show that ‘the Soviet Union completely
miscalculated the impact that its actions would have on the West’
(Source A lines 1-2).

(Total for Question 1 = 2 marks)
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2 Outline two steps that President Carter took to encourage the Soviet Union to
withdraw from Afghanistan.

(Total for Question 2 = 4 marks)
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Question 3

Study Sources B and C.

Source B: From a television broadcast made by President Kennedy on 22 October 1962.

The 1930s taught us a clear lesson: aggressive conduct, if allowed to go unchecked,
ultimately leads to war. We will not prematurely risk a world-wide war in which the
cost of victory would be too high. But neither will we back down if the risk of war

has to be faced. | call upon Chairman Khrushchev to halt this secret, reckless and
provocative threat to world peace.

Source C: An aerial photograph of Cuban missiles sites. This photograph was labelled
and published by the American Embassy in London on 23 October 1963.
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3 How useful are Sources B and C as evidence of the reasons for the USA’s blockade of
Cuba in October 1962?

Explain your answer, using Sources B and C and your own knowledge.

The live question paper will contain one further page of lines.

(Total for Question 3 = 10 marks)

TOTAL FOR SECTION A =16 MARKS
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SectionB
Answer EITHER Question 4(a) OR Question 4(b).
EITHER

4 (a) Describe the key features of the ‘refugee problem’in Berlin in the years 1958-61.

OR

4 (b) Describe the key features of the Intermediate-range Nuclear Forces (INF) Treaty
signed in December 1987.

Indicate which question you are answering by marking a cross in the box [X. If you change your
mind, put a line through the box 2¢ and then indicate your new question with a cross X.

Chosen Question Number: Question 4(a) [] Question 4(b) []
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(Total for Question 4 = 6 marks)
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Answer Question 5.

5 Explain the importance of three of the following in international relations.

- The Teheran Conference, 1943
« The formation of NATO, 1949

« The Prague Spring, 1968

- The fall of the Berlin Wall, 1989

(Total for each part = 5 marks)
(Total for Question 5 = 15 marks)
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Indicate your FIRST choice on this page.

Indicate which part you are answering by marking a cross in the box X. If you change your
mind, put a line through the box < and then indicate your new topic with a cross [X.

The Teheran Conference, 1943 O
The formation of NATO, 1949 L]
The Prague Spring, 1968 L]
The fall of the Berlin Wall, 1989 ]
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Indicate your SECOND choice on this page.

Indicate which part you are answering by marking a cross in the box X. If you change your
mind, put a line through the box < and then indicate your new topic with a cross [X.

The Teheran Conference, 1943 [
The formation of NATO, 1949 L]
The Prague Spring, 1968 L]
The fall of the Berlin Wall, 1989  []
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Indicate your THIRD choice on this page.

Indicate which part you are answering by marking a cross in the box X. If you change your
mind, put a line through the box < and then indicate your new topic with a cross [X.

The Teheran Conference, 1943 O
The formation of NATO, 1949 L]
The Prague Spring, 1968 L]
The fall of the Berlin Wall, 1989 ]
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Answer Question 6.
Spelling, punctuation and grammar will be assessed in this question.

*6 Explain why relations between the USA and the Soviet Union grew worse in the
period 1945-48.

(" )
You may use the following in your answer.

« Capitalism and communism
« The Berlin Blockade

You must also include information of your own.

The live question paper will contain two further page of lines.

(Total for spelling, punctuation and grammar = 3 marks)
(Total for Question 6 = 16 marks)

TOTAL FOR SECTION B =37 MARKS
TOTAL FOR PAPER =53 MARKS

Every effort has been made to contact copyright holders to obtain their permission for the use of copyright
material. Edexcel, a product of Pearson Education Ltd. will, if notified, be happy to rectify any errors or omissions
and include any such rectifications in future editions.
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